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WiER 2 R X B RUR (L) e TE(Z D2)

£ g - AKTiE Bifr B 2 B i & #B =
EEIEH 56, 402, 058
FEIEH 5,642,723 + 14,499, 865 20, 142, 588
HEfEsE GhH 42,000 + 5,143,867 + 456, 856 5,642,723
HBERHE (BLE) 42,000
HBERER (F) 56,402,058 x 9.12% ((5.32% x1.68) x 1.02) 5,143, 867
BSRENER 56, 402,058 x 0.81% 456, 856
RnEER 62,044,781 x 23.37% ((22.26% +0.43%) x 1.03) 14, 499, 865
TH/R1 56, 402, 058 + 20, 142, 588 76, 544, 646
—REEEZ 76,544,646 x 17.67% (17.67% x 1.00) — 701 13,524, 737
RERITE 76,544, 646 x 0.04% 30,617
T &l 76,544,646 + 13,524 737 + 30,617 90, 100, 000
HBEREELE 90,100,000 x 10.00% 9,010, 000
HAISE 90, 100,000 + 9,010, 000 99, 110, 000




BEANRE A I X B R IR (I $E R TH(Z D2)

£ g - AKTiE B H = i & 8 m =

BEEISE 56, 402, 058
FhiR R 56, 402, 058
HET 56, 402, 058
HEREART 56, 402, 058
HiEER 56, 402, 058
1T EREREAN) FKE10mK 5 6, 249. 00 8, 890 55, 553, 610

m 3
2 BEEEREBAQ) 7K 10m~ 20mK ji 96. 00 8, 838 848, 448

m 3
HEREE FEL) 42,000
HiB R 42,000
HBRZE 42,000
HiEEE 42,000
HifrEE 42,000
3 MEIIEHRAE 1.00 42,000 42,000
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A BRI R B RIRCLDEETE(ZD2)

&5 1
2 ERERERAQ)  KFEIOMKE 1000m 34 Y
£ 7 R - KT By B = B Of | # B &
A 5~100kg
m3 1, 300. 00 6, 600. 00 8, 580, 000
Bk D 270PSE! 3~5tH
B 1.38 192, 889. 00 266, 186 8H
AR L NOY
% 0.50 8, 846, 186. 00 44,230
= 5 YEZERES - 1,000.00m 3 8, 890. 00 8,890, 416
5:2
2 EBIEEERA Q) KFE10m~20mK i 1000m 34 Y
£ 7 R - KT By B = B Of | # B &
A 5~100kg
m3 1, 300. 00 6, 600. 00 8, 580, 000
Bk D 270PSE! 3~5tH
B 1.1 192, 889. 00 214,106 8H
AR L NOY
% 0.50 8, 794, 106. 00 43,970
= 5 YEZERES - 1,000.00m 3 8, 838.00 8,838,076
%5 :3
2% EIERAE =1
£ 7 R - KT By B = B Of o # B =
E-HYUTRE
= 1.00 42,000. 00 42,000
= it 1YE%HeH - 1.00K 42,000. 00 42,000




=2 R iy A A E I X BRI EE TE(Z02)
BiHRES 1
BRAH : BKkLtH D 270PSE 3~5tA 185y 8H
% 5 R - AR R B3 = B * # i B &
Bh R
L 129. 00 81.90 10, 565
KRR
A 0.24 43, 470. 00 10,432| 8 =1.20
Bkt
A 1.20 43, 470. 00 52,164 B=1.20
BAKERE
A 1.20 31,610.00 37,932 B=1.20
BKERE
A 1.20 32,030. 00 38,436 B=1.20
B GBAKEm) D 270PSE! 3~5tfm
=] 1.00 13, 000. 00 13, 000 pER =]
B GBAKEM D 270PSE! 3~5tm
=] 1.65 18, 400. 00 30,360 a=1.65 #RA
= it 192, 889




